

Fractional Brownian Bridge Measures and Their Integration by Parts Formula

Xiaoxia SUN

School of Mathematics, Dongbei University of Finance and Economics, Liaoning 116025, P. R. China

Abstract In this paper, we focus on the characterization for fractional Brownian bridge measures. We give the integration by parts formula for such measures by Bismut's method and their pull back formula. Conversely, we prove that such measures can be determined through their integration by parts formula.

Keywords fractional Brownian bridge measures; integration by parts formula; characterization

MR(2010) Subject Classification 60G15; 60G18; 60H30

1. Introduction

A fractional Brownian bridge is a kind of Gaussian bridge. Similarly to a Brownian bridge, a fractional Brownian bridge has its anticipative and non-anticipative representations which are studied in [1]. In this paper, we aim to characterize a fractional Brownian bridge measure through its integration by parts formula.

Since integration by parts formulas for measures are important in stochastic analysis, a lot of interesting work has been done on these fields. The integration by parts formula was investigated for Wiener measures on the path space in [2–4]. For Brownian bridge measures on the loop space, [5] gave the integration by parts formula on loop group, in which the vector field is C^1 ; [6, 7] established the integration by parts formula for such measures over Riemannian manifold with Levi-Civita connection. For fractional Wiener measures, [8, 9] gave its integration by parts formula under different integrals. [10] established the integration by parts formula for fractional Ornstein-Uhlenbeck measures.

Conversely, it is significant to consider the characterizations of measures through their integration by parts formulas. It is proved that Gaussian measures can be characterized through their integration by parts formula. [11] showed that the integration by parts formula can characterize abstract Wiener measures. [12] proved that Wiener measures can be characterized by their integration by parts formula on the path space. [10] gave the characterization for fractional Ornstein-Uhlenbeck measures.

2. Preliminaries

Received September 19, 2016; Accepted April 27, 2018

Supported by the Foundation of Liaoning Education Committee (Grant No. LN2017QN043) and the National Natural Science Foundation of China (Grant No. 11401074).

E-mail address: xiaoxiasun@dufe.edu.cn

For a continuous Gaussian process G starting at 0 and such that $\mathbb{E}(G_t) = 0, t \in [0, 1]$, its associated bridge process is defined by

$$X_t = G_t - tG_1, \quad 0 \leq t \leq 1.$$

If the Gaussian process G is a fractional Brownian motion, X is called a fractional Brownian bridge.

We set the loop space on \mathbb{R}^n as follows

$$\Omega = \{\omega \in C([0, 1]; \mathbb{R}^n) \mid \omega(0) = \omega(1) = 0\}.$$

Let $(\Omega, \mathcal{F}, \mathcal{F}_t, P)$ be a filtered probability space, where P is fractional Brownian bridge measure such that coordinate process $(X_t)_{0 \leq t \leq 1} = (\omega_t)_{0 \leq t \leq 1}$ is a fractional Brownian bridge, $(\mathcal{F}_t)_{0 \leq t \leq 1}$ is the P -completed natural filtration of $(X_t)_{0 \leq t \leq 1}$, and $\mathcal{F} = \mathcal{F}_1$ is the P -completion of the Borel σ -algebra of Ω . By [1], fractional Brownian bridge $(X_t)_{0 \leq t \leq 1}$ satisfies the following integral equation

$$X_t = B_t^H - \int_0^t \left(X_s + \int_0^s \Psi(s, u) dX_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds, \quad \text{a.s.} \tag{2.1}$$

where B^H is a fractional Brownian motion with $H > \frac{1}{2}$ and

$$\begin{aligned} k(t, s) &= c_H s^{\frac{1}{2}-H} \int_s^t u^{H-\frac{1}{2}}(u-s)^{H-\frac{3}{2}} du, \\ \Psi(t, s) &= \frac{\sin(\pi(H + \frac{1}{2}))}{\pi} s^{\frac{1}{2}-H} (t-s)^{\frac{1}{2}-H} \int_t^1 \frac{u^{H+\frac{1}{2}}(u-t)^{H+\frac{1}{2}}}{u-s} du, \end{aligned} \tag{2.2}$$

in which $c_H = \sqrt{\frac{H(2H-1)}{B(2-2H, H-\frac{1}{2})}}$. By [1, Proposition 18], the non-anticipative representation of the fractional Brownian bridge is

$$X_t = B_t^H - \int_0^t \varphi(t, s) dB_s^H, \quad \text{a.s.} \tag{2.3}$$

where

$$\varphi(t, s) = \int_s^t \left\{ \int_s^u \frac{(1 + \Psi(v, s))k(1, v)^2}{(\int_v^1 k(1, w)dw)^2} dv - \frac{1 + \Psi(u, s)}{\int_u^1 k(1, v)^2 dv} \right\} k(1, u)k(t, u)du.$$

We set

$$L^2(\Omega; P) = \{F \mid F : \Omega \rightarrow \mathbb{R}, \|F\|_2 := (\mathbb{E}_P|F|^2)^{\frac{1}{2}} < \infty\}.$$

By [8], the isomorphism operator $K : L^2(\Omega; P) \rightarrow I_{0+}^{H+\frac{1}{2}}(L^2(\Omega; P))$ is defined by

$$(Kh)_t = \int_0^t k(t, s)h_s ds,$$

where $h \in L^2(\Omega; P)$ and $I_{0+}^{H+\frac{1}{2}}(L^2(\Omega; P))$ is $(H + \frac{1}{2})$ -Hölder left fractional Riemann-Liouville integral operator. The inverse operator of K is denoted by K^{-1} . By [8], the Cameron-Martin vector field on Ω is

$$\mathcal{H}_0 = \{Kh \mid h \text{ is adapted process, } h \in L^2(\Omega; P) \text{ and } (Kh)_1 = 0\},$$

with scalar product

$$\langle Kh, Kg \rangle_{\mathcal{H}_0} = \langle h, g \rangle_{L^2(\Omega; P)} = \mathbb{E}_P \left[\int_0^1 \langle h_t, g_t \rangle dt \right].$$

The directional derivative of F along Kh is

$$D_h F(\omega) = \lim_{\delta \rightarrow 0} \frac{1}{\delta} (F(\omega + \delta(Kh)) - F(\omega)),$$

if the limit exists in $L^2(\Omega, P)$. Denote by $\mathcal{FC}^\infty(\Omega)$ the set of all the smooth cylindrical functions on Ω , i.e.,

$$\mathcal{FC}^\infty(\Omega) = \{F \mid F(\omega) = f(\omega_{t_1}, \dots, \omega_{t_n}), 0 < t_1 \leq t_2 \leq \dots \leq t_n \leq 1, f \in C^\infty(\mathbb{R}^n)\}.$$

For $F \in \mathcal{FC}^\infty(\Omega)$, the directional derivative of F is

$$D_h F(\omega) = \sum_{i=1}^n \langle \nabla^i F, (Kh)_{t_i} \rangle_{\mathbb{R}^n},$$

where $\nabla^i F = \nabla^i f(\omega_{t_1}, \dots, \omega_{t_n})$ is the gradient with respect to the i -th variable of f . The gradient $DF : \Omega \rightarrow \mathcal{H}_0$ is determined by $\langle DF, Kh \rangle_{\mathcal{H}_0} = D_h F$. The domain of D is denoted by $\text{Dom}(D)$.

3. Integration by parts formula

By Bismut's idea [13], we need to construct a \mathbb{R}^n -valued process β such that for any $r \in (-\epsilon, \epsilon)$, the following integral equation

$$X_t(r) = B_t^H(r) - \int_0^t \left(X_s(r) + \int_0^s \Psi(s, u) dX_u(r) \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds, \tag{3.1}$$

has solution $(X_t(r))_{0 \leq t \leq 1}$ satisfying

$$\begin{aligned} (X_t(r))_{0 \leq t \leq 1} &\in \Omega \text{ for any } r, \\ \frac{d}{dr} X_t(r) \Big|_{r=0} &\text{ exists and } \frac{d}{dr} X_t(r) \Big|_{r=0} = (Kh)_t, \end{aligned} \tag{3.2}$$

where $B_t^H(r)$ is defined by

$$B_t^H(r) = \int_0^t k(t, s) dB_s(r) = \int_0^t k(t, s) d \left(B_s + r \int_0^s (K^{-1}\beta)_u du \right), \tag{3.3}$$

in which B is a \mathbb{R}^n -valued Brownian motion. Note that $(X_t(0))_{0 \leq t \leq 1} = (X_t)_{0 \leq t \leq 1}$ and $B_t(0)_{0 \leq t \leq 1} = (B_t)_{0 \leq t \leq 1}$. The following lemma gives the expression of β such that the solution $(X_t(r))_{0 \leq t \leq 1}$ of (3.1) satisfies (3.2).

Lemma 3.1 *If the solutions $(X_t(r))_{0 \leq t \leq 1}$ of (3.1) satisfy (3.2), then*

$$\beta_t = (Kh)_t + \int_0^t ((Kh)_s + \int_0^s \Psi(s, u) d(Kh)_u) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds.$$

Proof Differentiating (3.1) with respect to r at $r = 0$, we obtain

$$\frac{d}{dr} X_t(r)|_{r=0} = \frac{d}{dr} B_t^H(r)|_{r=0} - \int_0^t \left(\frac{d}{dr} X_s(r)|_{r=0} + \int_0^s \Psi(s, u) d \frac{d}{dr} X_u(r)|_{r=0} \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds.$$

By (3.2) and (3.3), we get

$$\frac{d}{dr} X_t(r)|_{r=0} = (Kh)_t, \quad \frac{d}{dr} B_t^H(r)|_{r=0} = \beta_t,$$

which implies that

$$\beta_t = (Kh)_t + \int_0^t \left((Kh)_s + \int_0^s \Psi(s, u) d(Kh)_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds. \tag{3.4}$$

This completes the proof. \square

We give the integration by parts formula for fractional Brownian bridge measures.

Theorem 3.2 For any $T \in (0, 1)$, $F \in \text{Dom}(D) \cap \mathcal{F}_T$ and $Kh \in \mathcal{H}_0$, the integration by parts formula for the fractional Brownian bridge measure P is

$$\mathbb{E}_P \left[F \int_0^T \langle (K^{-1}\beta.)_t, dB_t \rangle \right] = \mathbb{E}_P [D_h F],$$

where B is a \mathbb{R}^n -valued Brownian motion and

$$\beta_t = (Kh)_t + \int_0^t \left((Kh)_s + \int_0^s \Psi(s, u) d(Kh)_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds.$$

Proof We set

$$\rho_t = \exp \left\{ -r \int_0^t \langle (K^{-1}\beta.)_s, dB_s \rangle - \frac{r^2}{2} \int_0^t (K^{-1}\beta.)_s^2 ds \right\}.$$

For $H > \frac{1}{2}$, by (3.4), we have

$$(K^{-1}\beta.)_t = h_t + ((Kh)_t + \int_0^t \Psi(t, u) d(Kh)_u) \frac{k(1, t)}{\int_t^1 k(1, u)^2 du}.$$

It follows that

$$\begin{aligned} & \int_0^1 (K^{-1}\beta.)_t^2 dt \\ & \leq 2 \int_0^1 h_t^2 dt + 4 \int_0^1 (Kh)_t^2 d \frac{1}{\int_t^1 k(1, u)^2 du} + 4 \int_0^1 \frac{(\int_0^t \Psi(t, u) d(Kh)_u)^2 k^2(1, t)}{(\int_t^1 k(1, u)^2 du)^2} dt. \end{aligned} \tag{3.5}$$

By the definition of k in (2.2), we obtain that

$$\frac{c_H}{H - \frac{1}{2}} (1-t)^{H-\frac{1}{2}} \leq k(1, t) \leq \frac{c_H}{H - \frac{1}{2}} t^{\frac{1}{2}-H} (1-t)^{H-\frac{1}{2}}. \tag{3.6}$$

Since Kh is H -Hölder continuous and $(Kh)_1 = 0$, there is a constant C_K such that

$$|(Kh)_t| \leq C_K (1-t)^H \left(\int_0^1 h_t^2 dt \right)^{\frac{1}{2}}. \tag{3.7}$$

Due to

$$(Kh)_t = c_H \int_0^t \int_0^u s^{\frac{1}{2}-H} u^{H-\frac{1}{2}} (u-s)^{H-\frac{3}{2}} h_s ds du,$$

we have

$$(Kh)'_t = c_H \int_0^t s^{\frac{1}{2}-H} t^{H-\frac{1}{2}} (t-s)^{H-\frac{3}{2}} h_s ds. \tag{3.8}$$

Suppose that h is a bounded adapted process. By (3.6)–(3.8), there is a constant C_1 such that

$$\begin{aligned} & \int_0^1 (Kh)_t^2 d \frac{1}{\int_t^1 k(1,u)^2 du} \\ & \leq \left| \lim_{t \rightarrow 1} \frac{(Kh)_t^2}{\int_t^1 k(1,u)^2 du} \right| + \left| \int_0^1 \frac{2(Kh)_t (Kh)'_t}{\int_t^1 k(1,u)^2 du} dt \right| \\ & \leq \lim_{t \rightarrow 1} \frac{C_K^2 (1-t)^{2H}}{\frac{c_H^2 (1-t)^{2H}}{2H(H-\frac{1}{2})^2}} + \int_0^1 \frac{2C_K (1-t)^H |c_H \int_0^t s^{\frac{1}{2}-H} t^{H-\frac{1}{2}} (t-s)^{H-\frac{3}{2}} ds|}{\frac{c_H^2 (1-t)^{2H}}{2H(H-\frac{1}{2})^2}} dt \leq C_1. \end{aligned} \tag{3.9}$$

By (2.2), there is a constant C_Ψ such that

$$\Psi(t, s) \leq C_\Psi s^{\frac{1}{2}-H} (t-s)^{\frac{1}{2}-H} (1-t)^{H+\frac{1}{2}}. \tag{3.10}$$

By (3.8) and (3.10), it is easy to check that there is a constant C_2 such that

$$\int_0^1 \frac{(\int_0^t (\int_s^t \Psi(t, u) c_H s^{\frac{1}{2}-H} u^{H-\frac{1}{2}} (u-s)^{H-\frac{3}{2}} du) h_s ds)^2 k^2(1, t)}{(\int_t^1 k(1, u)^2 du)^2} dt \leq C_2. \tag{3.11}$$

By (3.5), (3.9) and (3.11), $(\rho_t)_{0 \leq t \leq 1}$ is a uniformly integrable martingale for any $r \in (-\epsilon, \epsilon)$ on $(\Omega, \mathcal{F}, \mathcal{F}_t, P)$ due to Novikov’s criterion. Note that

$$B_s(r) = B_s + r \int_0^s (K^{-1}\beta)_u du.$$

By Girasonv’s theorem, we conclude that $(B_t(r))_{0 \leq t \leq 1}$ is a Brownian motion for any $r \in (-\epsilon, \epsilon)$ under $\rho_1 P$. Thus by [14, Theorem 2], $(B_t^H(r))_{0 \leq t \leq 1}$ is a fractional Brownian motion under $\rho_1 P$. Since

$$\begin{aligned} X_t &= B_t^H - \int_0^t \left(X_s + \int_0^s \Psi(s, u) dX_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds, \\ X_t(r) &= B_t^H(r) - \int_0^t \left(X_s(r) + \int_0^s \Psi(s, u) dX_u(r) \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds, \end{aligned}$$

we conclude that $(X_t(r))_{0 \leq t \leq 1}$ and $(X_t)_{0 \leq t \leq 1}$ have the same distribution under $\rho_1 P$ and P , respectively, that is, for any cylindrical function $F = f(X_{t_1}, \dots, X_{t_n})$,

$$\mathbb{E}_{\rho_1 P}[f(X_{t_1}(r), \dots, X_{t_n}(r))] = \mathbb{E}_P[f(X_{t_1}, \dots, X_{t_n})].$$

Differentiating the above equation with respect to r , we obtain

$$\frac{d}{dr} \mathbb{E}_P[\rho_1 f(X_{t_1}(r), \dots, X_{t_n}(r))] |_{r=0} = -\mathbb{E}_P \left[F \int_0^1 \langle (K^{-1}\beta)_t, dB_t \rangle \right] + \mathbb{E}_P[D_h F] = 0.$$

Thus for any adapted bounded process h , we get

$$\mathbb{E}_P \left[F \int_0^1 \langle (K^{-1}\beta)_t, dB_t \rangle \right] = \mathbb{E}_P[D_h F]. \tag{3.12}$$

It is obvious that $K^{-1}\beta \in L^2(\Omega; \nu)$ for $h \in L^2(\Omega; \nu)$, then (3.12) holds for any $h \in L^2(\Omega; \nu)$. Moreover, since D is a closable operator, integration by parts formula (3.12) holds for any $F \in \text{Dom}(D) \cap \mathcal{F}_T$. The proof is completed. \square

4. Characterization of fractional Brownian bridge

Next, we show that a fractional Brownian bridge measure can be characterized through its integration by parts formula. Suppose that Y is a semi-martingale and $Y_t = \int_0^t \Gamma_s dB_s + L_t$, where Γ is a $\mathbb{R}^n \times \mathbb{R}^n$ -valued continuous process, B is a \mathbb{R}^n -valued Brownian motion and L is a \mathbb{R}^n -valued continuous bounded quadratic variation process.

Theorem 4.1 *Let $(\Omega, \mathcal{F}, \mathcal{F}_t, \mu)$ be a probability space. If μ is a probability measure such that*

- (1) *Coordinate process X satisfies*

$$X_t = Y_t^H - \int_0^t \left(X_s + \int_0^s \Psi(s, u) dX_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds,$$

where $Y_t^H = \int_0^t k(t, s) dY_s$;

- (2) *For any $T \in (0, 1)$, $F \in \text{Dom}(D) \cap \mathcal{F}_T$ and $Kh \in \overline{\mathcal{H}}_0 = \{Kh | h \text{ is adapted process, } h \in L^2(\Omega; \mu) \text{ and } (Kh)_1 = 0\}$, it holds that*

$$\mathbb{E}_\mu \left[F \int_0^T \langle (K^{-1}\beta)_t, dY_t \rangle \right] = \mathbb{E}_\mu [D_h F], \tag{4.1}$$

where

$$(K^{-1}\beta)_t = h_t + \left((Kh)_t + \int_0^t \Psi(t, u) d(Kh)_u \right) \frac{k(1, t)}{\int_t^1 k(1, u)^2 du},$$

then μ is a fractional Brownian bridge measure.

Proof It suffices to prove that Y is a Brownian motion. We establish the proof in two steps.

- (1) Let $F = 1$. By (4.1), we have

$$\mathbb{E}_\mu \left[F \int_0^T \langle (K^{-1}\beta)_t, dY_t \rangle \right] = 0,$$

which implies

$$\mathbb{E}_\mu \left[\int_0^T \langle (K^{-1}\beta)_t, dL_t \rangle \right] = 0. \tag{4.2}$$

Considering integral equation $(K^{-1}\beta)_t = L_t$, that is

$$(Kh)_t + \int_0^t \left((Kh)_s + \int_0^s \Psi(s, u) d(Kh)_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds = (KL)_t.$$

Its solution is

$$(Kh)_t = (KL)_t - \int_0^t \varphi(t, s) d(KL)_s,$$

which implies

$$h_t = L_t - \left(K^{-1} \int_0^\cdot \varphi(\cdot, s) d(KL)_s \right)_t.$$

By the definition of isomorphism operator K , it holds that

$$\begin{aligned} & \int_0^t \varphi(t, s)(KL)'_s ds \\ &= \int_0^t \left\{ \int_s^t \left(\int_s^u \frac{(1 + \Psi(v, s))k(1, v)^2}{(\int_v^1 k(1, w)^2 dw)^2} dv - \frac{1 + \Psi(u, s)}{\int_u^1 k(1, v)^2 dv} \right) k(1, u)k(t, u) du \right\} (KL)'_s ds \\ &= \int_0^t k(t, u) \left(\int_0^u \left\{ \left(\int_s^u \frac{(1 + \Psi(v, s))k(1, v)^2}{(\int_v^1 k(1, w)^2 dw)^2} dv - \frac{1 + \Psi(u, s)}{\int_u^1 k(1, v)^2 dv} \right) k(1, u)(KL)'_s \right\} ds \right) du \\ &= \left(K \left\{ \int_0^u \left(\int_s^u \frac{(1 + \Psi(v, s))k(1, v)^2}{(\int_v^1 k(1, w)^2 dw)^2} dv - \frac{1 + \Psi(u, s)}{\int_u^1 k(1, v)^2 dv} \right) k(1, u)(KL)'_s ds \right\} \right)_t. \end{aligned}$$

Hence,

$$h_t = L_t - \int_0^t \left(\int_s^t \frac{(1 + \Psi(v, s))k(1, v)^2}{(\int_v^1 k(1, w)^2 dw)^2} dv - \frac{1 + \Psi(t, s)}{\int_t^1 k(1, v)^2 dv} \right) k(1, t)(KL)'_s ds. \tag{4.3}$$

Therefore, if we let h equal to (4.3), Eq. (3.2) is

$$\mathbb{E}_\mu \left[\int_0^T \langle L_t, dL_t \rangle \right] = 0,$$

which yields that $L_t = 0$ for any $t \in [0, T]$. Due to the continuity of L in $[0, 1]$, we obtain that $L_t = 0$ for any $t \in [0, 1]$.

(2) For an orthogonal basis $\{e_i : i = 1, \dots, n\}$ on \mathbb{R}^n , let $F = \langle Y_T, e_i \rangle$. We give the derivative of $\langle Y_T, e_i \rangle$ in two ways. Consider the following equation

$$X_t(r) = Y_t^H(r) - \int_0^t \left(X_s(r) + \int_0^s \Psi(s, u) dX_u(r) \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds,$$

where $Y_t^H(r)$ is defined by

$$Y_t^H(r) = Y_t^H + r\alpha_t,$$

in which α is a \mathbb{R}^n -valued adapted process. If the solution satisfies $(Kh)_t = \frac{d}{dr} Y_t(r)|_{r=0}$, we obtain

$$\alpha_t = \beta_t = (Kh)_t + \int_0^t \left((Kh)_s + \int_0^s \Psi(s, u) d(Kh)_u \right) \frac{k(1, s)k(t, s)}{\int_s^1 k(1, u)^2 du} ds. \tag{4.4}$$

By the definition of Y^H , we have

$$Y_t^H(r) = \int_0^t k(t, s) dY_s(r) = \int_0^t k(t, s) d \left(Y_s + r \int_0^s (K^{-1}\beta)_u du \right),$$

which yields that

$$Y_t(r) = Y_t + r \int_0^t (K^{-1}\beta)_s ds.$$

Hence

$$D_h \langle Y_T, e_i \rangle = \frac{d}{dr} \langle Y_T(r), e_i \rangle \Big|_{r=0} = \int_0^T \langle (K^{-1}\beta)_s, e_i \rangle ds. \tag{4.5}$$

Let $F = \langle Y_T, e_i \rangle$. By (4.1), we have

$$\begin{aligned} \mathbb{E}_\mu [D_h \langle Y_T, e_i \rangle] &= \mathbb{E}_\mu \left[\int_0^T \langle \Gamma_t^* e_i, dB_t \rangle \int_0^1 \langle (K^{-1}\beta)_t, dY_t \rangle \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle \Gamma_t \Gamma_t^* e_i, (K^{-1}\beta)_t \rangle dt \right]. \end{aligned} \tag{4.6}$$

Note that Γ is a $\mathbb{R}^n \times \mathbb{R}^n$ -valued continuous process. Combining (4.5) and (4.6), we obtain

$$\mathbb{E}_\mu \left[\int_0^T \langle (\Gamma_t \Gamma_t^* - I) e_i, (K^{-1}\beta)_t \rangle dt \right] = 0. \tag{4.7}$$

By (4.4), we get

$$\begin{aligned} &\mathbb{E}_\mu \left[\int_0^T \langle (\Gamma_t \Gamma_t^* - I) e_i, (K^{-1}\beta)_t \rangle dt \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle (\Gamma_t \Gamma_t^* - I) e_i, h_t + ((Kh)_t + \int_0^t \Psi(t, u) d(Kh)_u) \frac{k(1, t)}{\int_t^1 k(1, u)^2 du} \rangle dt \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle (\Gamma_t \Gamma_t^* - I) e_i, h_t \rangle dt \right] + \mathbb{E}_\mu \left[\int_0^T \langle P_t, (Kh)_t + \int_0^t \Psi(t, u) d(Kh)_u \rangle dt \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle (\Gamma_t \Gamma_t^* - I) e_i, h_t \rangle dt \right] + \mathbb{E}_\mu \left[\int_0^T \langle P_t, (Kh)_t \rangle dt \right] + \\ &\quad \mathbb{E}_\mu \left[\int_0^T \langle P_t, \int_0^t \Psi(t, u) d(Kh)_u \rangle dt \right], \end{aligned} \tag{4.8}$$

where

$$P_t = \frac{k(1, t)}{\int_t^1 k(1, u)^2 du} (\Gamma_t \Gamma_t^* - I) e_i.$$

The second term of (4.8) is

$$\begin{aligned} \mathbb{E}_\mu \left[\int_0^T \langle P_t, (Kh)_t \rangle dt \right] &= \mathbb{E}_\mu \left[\int_0^T \langle P_t, c_H \int_0^t s^{\frac{1}{2}-H} \int_s^t u^{H-\frac{1}{2}} (u-s)^{H-\frac{1}{2}} du h_s ds \rangle dt \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle c_H \int_s^T P_t s^{\frac{1}{2}-H} \int_s^t u^{H-\frac{1}{2}} (u-s)^{H-\frac{1}{2}} du dt, h_s \rangle ds \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \langle c_H \int_t^T P_s t^{\frac{1}{2}-H} \int_t^s u^{H-\frac{1}{2}} (u-t)^{H-\frac{1}{2}} du ds, h_t \rangle dt \right]. \end{aligned} \tag{4.9}$$

The third term of (4.8) is

$$\begin{aligned} &\mathbb{E}_\mu \left[\int_0^T \left\langle \int_u^T \Psi(t, u) P_t dt, (Kh)'_u \right\rangle du \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \left\langle \int_u^T \Psi(t, u) P_t dt, c_H \int_0^u s^{\frac{1}{2}-H} u^{H-\frac{1}{2}} (u-s)^{H-\frac{3}{2}} h_s ds \right\rangle du \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \left\langle c_H \int_s^T s^{\frac{1}{2}-H} u^{H-\frac{1}{2}} (u-s)^{H-\frac{3}{2}} \int_u^T \Psi(t, u) P_t dt du, h_s \right\rangle ds \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \left\langle c_H \int_t^T t^{\frac{1}{2}-H} u^{H-\frac{1}{2}} (u-t)^{H-\frac{3}{2}} \int_u^T \Psi(s, u) P_s ds du, h_t \right\rangle dt \right] \\ &= \mathbb{E}_\mu \left[\int_0^T \left\langle \int_t^T (c_H P_s t^{\frac{1}{2}-H} \int_t^s u^{H-\frac{1}{2}} (u-t)^{H-\frac{3}{2}} \Psi(s, u) du) ds, h_t \right\rangle dt \right]. \end{aligned} \tag{4.10}$$

By (4.7)–(4.10), for any h , we obtain

$$\mathbb{E}_\mu \left[\int_0^T \left\langle (\Gamma_t \Gamma_t^* - I)e_i + \int_t^T c_H P_s t^{\frac{1}{2}-H} \int_t^s u^{H-\frac{1}{2}}(u-t)^{H-\frac{1}{2}}(1+\Psi(s,u))duds, h_t \right\rangle dt \right] = 0.$$

Thus

$$\mathbb{E}_\mu \left[(\Gamma_t \Gamma_t^* - I)e_i + \int_t^T c_H P_s t^{\frac{1}{2}-H} \int_t^s u^{H-\frac{1}{2}}(u-t)^{H-\frac{1}{2}}(1+\Psi(s,u))duds \middle| \mathcal{F}_t \right] = 0,$$

which implies that

$$(\Gamma_t \Gamma_t^* - I)e_i + \mathbb{E}_\mu \left[\int_t^T c_H P_s t^{\frac{1}{2}-H} \int_t^s u^{H-\frac{1}{2}}(u-t)^{H-\frac{1}{2}}(1+\Psi(s,u))duds \middle| \mathcal{F}_t \right] = 0.$$

Let t tend to T . We get

$$(\Gamma_T \Gamma_T^* - I)e_i = 0.$$

Since Γ is continuous in $[0, 1]$, $\Gamma_T \Gamma_T = I$ for any $T \in [0, 1]$. Therefore, Y is a Brownian motion. The proof is completed. \square

Acknowledgements We thank the referees for their time and comments.

References

- [1] D. GASBARRA, T. SOTTINEN, E. VALKEILA. *Stochastic Analysis and Applications*. Springer, Berlin, 2007.
- [2] B. K. DRIVER. *A Cameron-Martin type quasi-invariance theorem for Brownian motion on a compact Riemannian manifold*. *J. Funct. Anal.*, 1992, **110**(2): 272–376.
- [3] Shizan FANG, P. MALLIAVIN. *Stochastic analysis on the path space of a Riemannian manifold. I. Markovian stochastic calculus*. *J. Funct. Anal.*, 1993, **118**(1): 249–274.
- [4] E. P. HSU. *Quasi-invariance of the Wiener measure on the path space over a compact Riemannian manifold*. *J. Funct. Anal.*, 1995, **134**(2): 417–450.
- [5] B. K. DRIVER. *A Cameron-Martin type quasi-invariance theorem for pinned Brownian motion on a compact Riemannian manifold*. *Trans. Amer. Math. Soc.*, 1994, **342**(1): 375–395.
- [6] O. ENCHEV, D. W. STROOCK. *Pinned Brownian motion and its perturbations*. *Adv. Math.*, 1996, **119**(2): 127–154.
- [7] E. P. HSU. *Integration by parts in loop spaces*. *Math. Ann.*, 1997, **309**(2): 331–339.
- [8] L. DECREUSEFOND, A. S. ÜSTÜNEL. *Stochastic analysis of the fractional Brownian motion*. *Potential Anal.*, 1999, **10**(2): 177–214.
- [9] T. E. DUNCAN, Yaozhong HU, B. PASIK-DUNAN. *Stochastic calculus for fractional Brownian motion. I. Theory*. *SIAM J. Control Optim.*, 2000, **38**(2): 582–612.
- [10] Xiaoxia SUN, Feng GUO. *On integration by parts formula and characterization of fractional Ornstein-Uhlenbeck process*. *Statist. Probab. Lett.*, 2015, **107**: 170–177.
- [11] H. SHIH. *On Stein’s method for infinite-dimensional Gaussian approximation in abstract Wiener spaces*. *J. Funct. Anal.*, 2011, **261**(5): 1236–1283.
- [12] E. P. HSU. *Characterization of Brownian Motion on Manifolds Through Integration by Parts*. Singapore Univ. Press, Singapore, 2005.
- [13] J. M. BISMUT. *Large Deviations and the Malliavin Calculus*. Birkhäuser, 1984.
- [14] D. NUALART, Y. OUKNINE. *Regularization of differential equations by fractional noise*. *Stochastic Process. Appl.*, 2002, **102**(1): 103–116.